

County Distribution Detail Report through 03/04/2019

Aurora

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2019	2,614	1,872	50	4,536	\$5,670.00	\$101.93	\$5,568.07	0.70	\$3,897.65
							Entity Total:		\$3,897.65
							Adjustment:		\$0.00
							Total Amount	:	\$3,897.65
Beadle									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2019	2,703	10,322	301	13,326	\$16,657.50	\$171.33	\$16,486.17	0.70	\$11,540.32
							Entity Total:		\$11,540.32
							Adjustment:		\$0.00
							Total Amount	:	\$11,540.32
Bennett									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2019	947	1,042	3	1,992	\$2,490.00	\$50.85	\$2,439.15	0.70	\$1,707.41
							Entity Total:		\$1,707.41
							Adjustment:		\$0.00

Bon Homme

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2019	2,201	3,831	11	6,043	\$7,553.75	\$83.68	\$7,470.07	0.70	\$5,229.05
							Entity Total:		\$5,229.05
							Adjustment:		\$0.00
							Total Amount	:	\$5,229.05

\$1,707.41

Total Amount:

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2019	11,045	20,252	207	31,504	\$39,380.00	\$455.84	\$38,924.16	0.70	\$27,246.91
							Entity Total:		\$27,246.91
							Adjustment:		\$0.00
							Total Amour	nt:	\$27,246.91
Brown									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2019	10,331	25,831	228	36,390	\$45,487.50	\$477.84	\$45,009.66	0.70	\$31,506.76
							Entity Total:		\$31,506.76
							Adjustment:		\$0.00
							Total Amour	nt:	\$31,506.76
Brule									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2019	2,467	3,610	10	6,087	\$7,608.75	\$26.21	\$7,582.54	0.70	\$5,307.78
							Entity Total:		\$5,307.78
							Adjustment:		\$0.00
							Total Amour	nt:	\$5,307.78
Buffalo									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2019	576	434	2	1,012	\$1,265.00	\$5.85	\$1,259.15	0.70	\$881.41
							Entity Total:		\$881.41
							Adjustment:		\$0.00
							Total Amour	nt:	\$881.41
Butte									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2019	2,588	6,237	34	8,859	\$11,073.75	\$111.72	\$10,962.03	0.70	\$7,673.42
							Entity Total:		\$7,673.42
							Adjustment:		\$0.00
							T = (= 1, A =		AT 070 40

Total Amount:

\$7,673.42

Campbell

Campbon										
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount	
1/2019	737	1,398	7	2,142	\$2,677.50	\$30.81	\$2,646.69	0.70	\$1,852.68	
							Entity Total:		\$1,852.68	
							Adjustment:		\$0.00	
							Total Amour	nt:	\$1,852.68	
Charles Mix										
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount	
1/2019	2,824	5,312	18	8,154	\$10,192.50	\$104.95	\$10,087.55	0.70	\$7,061.29	
							Entity Total:		\$7,061.29	
							Adjustment:		\$0.00	
							Total Amour	nt:	\$7,061.29	
City of Box Elder, M	eade Co									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount	
1/2019	32	2,320	0	2,352	\$2,940.00	\$22.28	\$2,917.72	0.70	\$2,042.40	
							Entity Total:		\$2,042.40	
							Adjustment:		\$0.00	
							Total Amour	nt:	\$2,042.40	
City of North Sioux	City, Uni									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount	
1/2019	959	2,563	316	3,838	\$4,797.50	\$68.54	\$4,728.96	0.70	\$3,310.27	
							Entity Total:		\$3,310.27	
							Adjustment:		\$0.00	
							Total Amour	nt:	\$3,310.27	
City of Sioux Falls, I	Lincoln (
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount	
1/2019	4,728	23,096	1,430	29,254	\$36,567.50	\$195.28	\$36,372.22	0.70	\$25,460.55	
							Entity Total:		\$25,460.55	

\$25,460.55 \$0.00

Adjustment:

Total Amount: \$25,460.55

Clark

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2019	1,410	2,284	12	3,706	\$4,632.50	\$79.71	\$4,552.79	0.70	\$3,186.95
							Entity Total:		\$3,186.95
							Adjustment:		\$0.00
							Total Amount	:	\$3,186.95
01-									

Clay

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2019	1,832	7,232	170	9,234	\$11,542.50	\$79.13	\$11,463.37	0.70	\$8,024.36
							Entity Total:		\$8,024.36
							Adjustment:		\$0.00
							Total Amount:		\$8,024.36
Codington									
Devention Devia d	Telesem Lines	Windooolinoo	VOID	Total Lines	Currente anno	A dualia E a a	Not Sunch and	Endited	Entity American

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount	
1/2019	7,863	18,475	833	27,171	\$33,963.75	\$413.19	\$33,550.56	0.70	\$23,485.39	
							Entity Total:		\$23,485.39	
							Adjustment:		\$0.00	
							Total Amount	:	\$23,485.39	

Corson

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2019	1,341	596	7	1,944	\$2,430.00	\$36.38	\$2,393.62	0.70	\$1,675.53
							Entity Total:		\$1,675.53
							Adjustment:		\$0.00
							Total Amount	:	\$1,675.53

Custer

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2019	3,617	5,268	47	8,932	\$11,165.00	\$157.49	\$11,007.51	0.70	\$7,705.26

Entity Total:

\$7,705.26

Adjustment: \$0.00 Total Amount: \$7,705.26

Davison

Douglas

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount	
1/2019	5,415	13,593	102	19,110	\$23,887.50	\$194.58	\$23,692.92	0.70	\$16,585.04	
							Entity Total:		\$16,585.04	
							Adjustment:		\$0.00	
							Total Amount	:	\$16,585.04	
Day										
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount	
1/2019	2,193	3,467	8	5,668	\$7,085.00	\$83.97	\$7,001.03	0.70	\$4,900.72	
							Entity Total:		\$4,900.72	
							Adjustment:		\$0.00	
							Total Amount	:	\$4,900.72	
Deuel										

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2019	1,874	2,852	9	4,735	\$5,918.75	\$81.71	\$5,837.04	0.70	\$4,085.93
							Entity Total:		\$4,085.93
							Adjustment:		\$0.00
							Total Amoun	it:	\$4,085.93

Reporting Period Surcharge Net Surcharge Entity Entity Amount **Telecom Lines** Wireless Lines VOIP **Total Lines** Admin Fee Lines Percent 7 1/2019 1,346 2,136 3,489 \$4,361.25 \$55.38 \$4,305.87 0.70 \$3,014.11 Entity Total: \$3,014.11 Adjustment: \$0.00 **Total Amount:** \$3,014.11 Edmunds Reporting Period Telecom Lines Wireless Lines VOIP Total Lines Admin Foo Not Surchargo Entity Entity Amount Surchargo

Reporting Period	Telecom Lines	wireless Lines	Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Percent	Entity Amount
1/2019	1,370	2,865	18	4,253	\$5,316.25	\$57.37	\$5,258.88	0.70	\$3,681.22

	Entity Total:	\$3,681.22
	Adjustment:	\$0.00
	Total Amount:	\$3,681.22
Fall River		

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2019	3,482	4,412	21	7,915	\$9,893.75	\$113.55	\$9,780.20	0.70	\$6,846.14
							Entity Total:		\$6,846.14
							Adjustment:		\$0.00
							Total Amount	:	\$6,846.14

Faulk

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2019	866	1,433	13	2,312	\$2,890.00	\$40.05	\$2,849.95	0.70	\$1,994.97
							Entity Total:		\$1,994.97
							Adjustment:		\$0.00
							Total Amount:		\$1,994.97

Grant

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2019	2,351	5,200	20	7,571	\$9,463.75	\$74.89	\$9,388.86	0.70	\$6,572.20
							Entity Total:		\$6,572.20
							Adjustment:		\$0.00
							Total Amount:		\$6,572.20

Gregory

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2019	1,945	3,435	14	5,394	\$6,742.50	\$77.12	\$6,665.38	0.70	\$4,665.77
							Entity Total:		\$4,665.77
							Adjustment:		\$0.00
							Total Amoun	t:	\$4,665.77
Haakon									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2019	1,082	1,360	5	2,447	\$3,058.75	\$49.78	\$3,008.97	0.70	\$2,106.28

							Entity Total:		\$2,106.28
							Adjustment:		\$0.00
							Total Amoun	t:	\$2,106.28
Hamlin									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2019	1,783	3,609	9	5,401	\$6,751.25	\$103.05	\$6,648.20	0.70	\$4,653.74
							Entity Total:		\$4,653.74
							Adjustment:		\$0.00
							Total Amoun	t:	\$4,653.74
Hand									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2019	1,190	2,652	14	3,856	\$4,820.00	\$41.73	\$4,778.27	0.70	\$3,344.79
							Entity Total:		\$3,344.79
							Adjustment:		\$0.00
							Total Amoun	t:	\$3,344.79
Hanson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2019	985	2,938	22	3,945	\$4,931.25	\$46.48	\$4,884.77	0.70	\$3,419.34
							Entity Total:		\$3,419.34
							Adjustment:		\$0.00
							Total Amoun	t:	\$3,419.34
Harding									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2019	717	862	1	1,580	\$1,975.00	\$38.50	\$1,936.50	0.70	\$1,355.55
							Entity Total:		\$1,355.55
							Adjustment:		\$0.00
							Total Amoun	t:	\$1,355.55
Hughes									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount

1/2019	4,560	14,143	190	18,893	\$23,616.25	\$278.55	\$23,337.70	0.70	\$16,336.39
							Entity Total:		\$16,336.39
							Adjustment:		\$0.00
							Total Amoun	it:	\$16,336.39
Hutchinson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2019	3,198	5,041	47	8,286	\$10,357.50	\$137.12	\$10,220.38	0.70	\$7,154.27
							Entity Total:		\$7,154.27
							Adjustment:		\$0.00
							Total Amoun	it:	\$7,154.27
Hyde									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2019	701	1,071	5	1,777	\$2,221.25	\$25.32	\$2,195.93	0.70	\$1,537.15
							Entity Total:		\$1,537.15
							Adjustment:		\$0.00
							Total Amoun	it:	\$1,537.15
Jackson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2019	675	818	4	1,497	\$1,871.25	\$26.55	\$1,844.70	0.70	\$1,291.29
							Entity Total:		\$1,291.29
							Adjustment:		\$0.00
							Total Amoun	it:	\$1,291.29
Jerauld									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2019	917	1,222	5	2,144	\$2,680.00	\$42.44	\$2,637.56	0.70	\$1,846.29
							Entity Total:		\$1,846.29
							Adjustment:		\$0.00
							Total Amoun	it:	\$1,846.29

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2019	589	666	6	1,261	\$1,576.25	\$21.92	\$1,554.33	0.70	\$1,088.03
							Entity Total:		\$1,088.03
							Adjustment:		\$0.00
							Total Amour	nt:	\$1,088.03
Kingsbury									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2019	1,366	3,928	54	5,348	\$6,685.00	\$92.29	\$6,592.71	0.70	\$4,614.90
							Entity Total:		\$4,614.90
							Adjustment:		\$0.00
							Total Amour	nt:	\$4,614.90
Lake									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2019	2,832	9,005	266	12,103	\$15,128.75	\$125.55	\$15,003.20	0.70	\$10,502.24
							Entity Total:		\$10,502.24
							Adjustment:		\$0.00
							Total Amour	nt:	\$10,502.24
Lawrence									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2019	8,076	16,308	159	24,543	\$30,678.75	\$292.62	\$30,386.13	0.70	\$21,270.29
							Entity Total:		\$21,270.29
							Adjustment:		\$0.00
							Total Amour	nt:	\$21,270.29
Lincoln									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2019	4,381	22,647	1,773	28,801	\$36,001.25	\$254.63	\$35,746.62	0.70	\$25,022.63
							Entity Total:		\$25,022.63
							Adjustment:		\$0.00
							Total Amour	nt:	\$25,022.63

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2019	1,261	1,745	43	3,049	\$3,811.25	\$62.20	\$3,749.05	0.70	\$2,624.34
							Entity Total:		\$2,624.34
							Adjustment:		\$0.00
							Total Amoun	t:	\$2,624.34
Marshall									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2019	1,834	2,757	9	4,600	\$5,750.00	\$59.84	\$5,690.16	0.70	\$3,983.11
							Entity Total:		\$3,983.11
							Adjustment:		\$0.00
							Total Amoun	t:	\$3,983.11
McCook									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2019	2,403	4,178	16	6,597	\$8,246.25	\$76.44	\$8,169.81	0.70	\$5,718.87
							Entity Total:		\$5,718.87
							Adjustment:		\$0.00
							Total Amoun	t:	\$5,718.87
McPherson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2019	1,027	1,535	4	2,566	\$3,207.50	\$59.73	\$3,147.77	0.70	\$2,203.44
							Entity Total:		\$2,203.44
							Adjustment:		\$0.00
							Total Amoun	t:	\$2,203.44
Meade									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2019	3,903	16,854	296	21,053	\$26,316.25	\$202.17	\$26,114.08	0.70	\$18,279.86
							Entity Total:		\$18,279.86
							Adjustment:		\$0.00
									A / A A = A A A

\$18,279.86

Total Amount:

Mellette

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2019	624	655	0	1,279	\$1,598.75	\$22.83	\$1,575.92	0.70	\$1,103.14
							Entity Total:		\$1,103.14
							Adjustment:		\$0.00
							Total Amount	::	\$1,103.14
Miner									

Miner

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2019	1,042	1,567	3	2,612	\$3,265.00	\$42.00	\$3,223.00	0.70	\$2,256.10
							Entity Total:		\$2,256.10
							Adjustment:		\$0.00
							Total Amount	::	\$2,256.10

Minnehaha

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2019	45,116	144,981	1,907	192,004	\$240,005.00	\$1,555.75	\$238,449.25	0.70	\$166,914.48
							Entity Total:		\$166,914.48
							Adjustment:		\$0.00
							Total Amoun	t:	\$166,914.48

Moody

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2019	1,530	4,552	18	6,100	\$7,625.00	\$86.33	\$7,538.67	0.70	\$5,277.07
							Entity Total:		\$5,277.07
							Adjustment:		\$0.00
							Total Amount	:	\$5,277.07

Pennington

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2019	26,731	75,697	1,591	104,019	\$130,023.75	\$1,109.43	\$128,914.32	0.70	\$90,240.02

\$0.00

\$90,240.02

Entity Total:

Adjustment:

Total Amount: \$90,240.02

Perkins

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2019	1,768	2,295	6	4,069	\$5,086.25	\$63.03	\$5,023.22	0.70	\$3,516.25
							Entity Total:		\$3,516.25
							Adjustment:		\$0.00
							Total Amount:	:	\$3,516.25

Potter

Repo	rting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2019)	1,221	1,748	7	2,976	\$3,720.00	\$37.34	\$3,682.66	0.70	\$2,577.86
								Entity Total:		\$2,577.86
								Adjustment:		\$0.00
								Total Amount	:	\$2,577.86

Roberts

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2019	3,768	4,841	16	8,625	\$10,781.25	\$148.08	\$10,633.17	0.70	\$7,443.22
							Entity Total:		\$7,443.22
							Adjustment:		\$0.00
							Total Amoun	t:	\$7,443.22

Sanborn

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2019	870	1,783	10	2,663	\$3,328.75	\$41.48	\$3,287.27	0.70	\$2,301.09
							Entity Total:		\$2,301.09
							Adjustment:		\$0.00
							Total Amount	:	\$2,301.09
Spink									

Reporting Period Telecom Lines Wireless Lines **Total Lines** Net Surcharge Entity **Entity Amount** VOIP Surcharge Admin Fee Lines Percent 2,016 20 6,508 \$8,135.00 \$8,037.13 \$5,625.99 1/2019 4,472 \$97.87 0.70

Entity Total:

\$5,625.99

Adjustment: \$0.00 Total Amount: \$5,625.99

Stanley

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2019	747	2,137	14	2,898	\$3,622.50	\$35.97	\$3,586.53	0.70	\$2,510.57
							Entity Total:		\$2,510.57
							Adjustment:		\$0.00
							Total Amount:		\$2,510.57
Sully									

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2019	723	1,157	4	1,884	\$2,355.00	\$30.96	\$2,324.04	0.70	\$1,626.83
							Entity Total:		\$1,626.83
							Adjustment:		\$0.00
							Total Amoun	:	\$1,626.83

Todd

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2019	0	47	2	49	\$61.25	\$9.78	\$51.47	0.70	\$36.03
							Entity Tota	l:	\$36.03
							Adjustmen	t:	\$0.00
							Total Amou	int:	\$36.03

Tripp

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2019	2,723	3,855	5	6,583	\$8,228.75	\$82.21	\$8,146.54	0.70	\$5,702.58
							Entity Total:		\$5,702.58
							Adjustment:		\$0.00
							Total Amount	:	\$5,702.58
Turner									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount

Reporting renou	Telebolin Ellies		Lines		ouronarge	Adminitec	Net Galonalge	Percent	Entry Anount
1/2019	2,339	6,119	17	8,475	\$10,593.75	\$88.37	\$10,505.38	0.70	\$7,353.77

		Entity Total:	\$7,353.77
		Adjustment:	\$0.00
		Total Amount:	\$7,353.77
Union			

I	Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
	/2019	3,383	10,895	409	14,687	\$18,358.75	\$194.70	\$18,164.05	0.70	\$12,714.84
								Entity Total:		\$12,714.84
								Adjustment:		\$0.00
								Total Amount	:	\$12,714.84

Walworth

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2019	2,212	3,589	71	5,872	\$7,340.00	\$79.74	\$7,260.26	0.70	\$5,082.18
							Entity Total:		\$5,082.18
							Adjustment:		\$0.00
							Total Amount	:	\$5,082.18

Yankton

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2019	5,528	15,561	220	21,309	\$26,636.25	\$189.54	\$26,446.71	0.70	\$18,512.70
							Entity Total:		\$18,512.70
							Adjustment:		\$0.00
							Total Amount:		\$18,512.70
Totals	227,478	580,658	11,146	819,282	\$ 1,024,102.50	\$ 9,403.95	\$ 1,014,698.55		